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QUESTION 1

A BW 7.4 data flow has been working successfully for a while. Today the data flow resulted in an error after the
DataSource has been changed and reactivateD. What could be the possible problem? Select the correct answer.

A. The Transformation connecting the DataSource needs reactivation.

B. The PSA entries need to be reactivated.

C. The PSA entries should have been deleted prior to the DataSource reactivation.
D. The InfoProvider data should have been first deleted.

Correct Answer: A

QUESTION 2

Which of the following record modes delivered by a DataSource can you directly upload to an InfoCube? There are 3
correct answers.

A. Reverse Image

B. Before Image and After Image
C. Delete Image

D. Additive Image

E. After Image

Correct Answer. ABD

QUESTION 3

Which of the following are true regarding an aggregate roll-up? (1)

A. Itis needed every time new data is loaded into the InfoCube

B. It does not have any relationship to the availability of data for reporting in an aggregate
C. It compresses data into the E Table of the aggregate

D. It is the same thing as an attribute change run

Correct Answer: A

QUESTION 4

Which of the following actions must you perform to design the dimensions of an InfoCube when you want to accelerate
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query performance? (3)

A. Assign two characteristics that have an N:M relationship to different dimensions
B. Each dimension should have the same number of characteristics

C. Place the most selective characteristics first in the dimensions

D. Use the line item dimensions for characteristics with high cardinality

E. Assign two compounded characteristics to different dimensions

Correct Answer: ACD

QUESTION 5

Which of the following are standard aggregation types for Key Figures? (2)
A. Summation

B. Average

C. Last Value

D. Minimum

Correct Answer: AD
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